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QUESTION 1

Which of the following rules would apply when counting FTRs for an EI? 

A. Count one FTR for each unique data function that is accessed 

B. Count one FTR for each transactional function read during the processing of the EI 

C. Count two FTRs for each unique data function that is both maintained and read 

D. None of the above 

Correct Answer: A 

 

QUESTION 2

A development project creates an application with 7 low EIs, 4 high EOs and 7 low EQs. Additionally, 5 low EIFs are
referenced and 2 high ILFs are updated. What is the DFP? 

A. 100 

B. 125 

C. 135 

D. 142 

Correct Answer: B 

 

QUESTION 3

The Robot Automation Program (RAP) is an application which allows factory technicians to create and edit the weld
placement programs for various robots on the assembly line. Both transactions maintain the Weld Specification and
Robot logical files. 

The user may print individual welding program details: From the Names of Possible Functions listed identify the
transactional functions for the RAP application. Select N/A if a Name of Possible Functions does not apply. Identify the
functions used: 
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Correct Answer: 

 

 

QUESTION 4
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Which of the following statements is false? 

A. Technical requirements do not contribute to the functional size 

B. CPM is transformed into an ISO standard for size with inclusion of GSC 

C. Functional size can be estimated in the proposal phase 

D. Prior to FP counting, we need to determine the purpose of the count 

Correct Answer: B 

 

QUESTION 5

A report is created that displays all of the high net worth clients. The report calculates the net worth of a client by totaling
the balances from all of their accounts with the firm including unrealized gains and losses. If the net worth of the client
exceeds $5 million the client is included on the report. The report retrieves the name, address and phone number from
the master account file and generates a list. How would this be counted? 

A. 1 EI 

B. 1 EO 

C. 1 EQ 

D. Not counted 

Correct Answer: B 

I40-420 VCE Dumps I40-420 Exam Questions I40-420 Braindumps

Powered by TCPDF (www.tcpdf.org)

I40-420 VCE Dumps | I40-420 Exam Questions | I40-420 Braindumps                                6 / 6

https://www.pass4itsure.com/i40-420.html
https://www.pass4itsure.com/i40-420.html
https://www.pass4itsure.com/i40-420.html
http://www.tcpdf.org
https://www.pass4itsure.com/i40-420.html
https://www.pass4itsure.com/i40-420.html
https://www.pass4itsure.com/i40-420.html

